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COMMERCE

(Honours Core)
Paper : COM-HC-2016
( Corporate Accounting)
Full Marks : 80
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

() Fill in the blanks with appropriate
words : 1x35=3
TogE i A O 7 A ¢

(a) Right shares are generally issued
at a price than the market

price.
SEPTE SH 2T AR ISR ToTT e
are /et Q|
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) The Companies Act, 2013 follows
~_ format for preparation of

m.:ﬁw_ Account.
T S, k059 2 YT fzpiel oFS
HACE wiffR SR A

(c) The issue of bonus shares must
be recommended by Board of
Directors and approved by the

———————

@R Tieia Rfeeae AwrER NS el
e S @Al SRS 29 i1 |

(d) Preacquisition profits are ____
profits.

HYeZR SR &S e 24|

(¢) The company Into which another
company is amalgamated is called
company.

STB1 @rETE Fre S @t @A
I W, CRG @ANE

e r =
(i) State whether the following statements
are true or false : 1x5=5

TS T W SfeTIE OE (F Sem ol e

(a) Reduction in share capital must
be sanctioned by National
Company Law Board.
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s YR EOROTR A AW (AT
wite offfu SRR SR
(b) At the ume of valuauon of goodwill,
< onlv gross profit 1s considered.
FANA A TS (I YI FEIR
farass @ @
fc) Computer software 1s a non-
A current assel.
Computer software Qb1 S5 feTe
i |

(d) AS-24 deals with ‘accounting for
,*Emﬁ.mlz._m:o: of companies.

AS-24 @ GBI @A [E5IeR
e STW |
fe) Buy back of shares doesnot affect

the authorised share capital of
company.

WHF e T I TS (S GHR
SIS THEES (I ACR (AN |

2.  Answer the following questions : 2x5=10
TR SHPTR TeR il ¢

Ja) Write the meaning of issue of bonusg
shares.

Q@R S RiFeeer o ey
\

_ | O
Sem -2 /CBCS) HC / v
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]

(b) State two
P . companies.

AT G 1P m@@dﬂé 7l |
(c) What is internal reconstruction ?

R T

(d) What do you mean by ‘holding
( |

company’ ?
g @il g [ 3e e

(e) Mention the names of various methods

of valuation of equity shares.

ﬁjﬁ,zﬁmﬂzﬂmjgﬁ

T 4 |

Answer any four of the following :
5x4=20

wee fraraEa o[ faerer bifabrq $ed foall ¢

(a) Mention five conditions to be followed

for buy back of shares.

YA 7ol FE A0 a2 Ao S TreEd
+4 |

41(S " :

- N

4 (Sem -



Oor / 94l

Sunrise Ltd. has issued and paid up
capital of ¥8,00,000 divided into equity
shares of 210 each. The balance in the
securities premium account was

31,40,000 and general reserve 380,000.

The company decided to buy back 20%
of its share capital from its shareholders

at I8 per share. .
Pass journal entries in the books of
Sunrise Ltd. to record the above

transactions.

Sunrise Ltd. © 8,00,000 537 [feige o=
Sage Jag efersl 10 Bl e AR
THofde ©lsl I (R TG wifgzR fZpiore
1.40,000 B Wi FA4Ee Awen sffere =
80,000 Tl | (F™ANIA 20% S E4H,
SAfSCH! SIXIoa 8 Tl oS 7o FRACe Hag
4 |

@o[qe THRS (7T A Sunrise Ltd.
7 73w G 2 W

(b) Explain the following :
oo AT il A ¢
(i) Deferred tax :mg:@

4 (Sem-2/CBCS) HC 1 (CAC)/G 5 Contd
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(i) Corporate dividend tax
ot ArSH ¥R
Show journal entries in the books of

transferee company when amalgamation
is in the nature of purchase.

rﬁﬁmﬂ%ﬁ%%_%
8 Tawl 2Rk

Explain briefly the need for preparation
of consolidated Balance Sheet.

e fifoea age IR AT RS FYLE
g ¥

(e) The following information are taken
from Visual Co. Ltd. :

e ©UPTE Visual Co. Ltd. 332 °R

@R (7 ¢

(i) Capital :
900 6% preference shares of 2100
each fully paid.
9000 equity shares of ¥10 each
fully paid.
qYe 3 _
900 6% JAfEHETe: NG 2ATSol
100 59 e T ARmafes |
9000 FalIL Texioig ATGLH 10 T To9
Feojefancsl wAfarsifas

4 {Sem-2/CBCS) HC 1(CAC)/G 6




i) External habilities 215,000
afgrden 15,000 b
fut) Other equity 23,000
ST e 3,000 b3
fiv) The average profit (after taxation)
earned every year is 210,500.
*f% a2 oTT 7 W WA 10,500 5
(@4 arafv)
Calculate the value of each equity
share.
of® Falee STz JE S A |
(f) Arohan Ltd. decided on 30.03.2023 to
y convert its 80,000 fully paid equity
shares of 210 each into 7 per share
fully paid up and to return 3 per share
to equity shareholders.
Pass necessary journal entries in the
books of Arohan Ltd.
Arohan Ltd. (@ 30.03.2023 wif{ty of%
eIo{g B o4 80,000 Fwf sifarenfere Fames
gz ofe 7 bl AR A=A sifarifys
TR ARG IR A% o1 Wk @7 2ffs
GEAE 3 T AATYRS FETE o3 far |
Arohan Ltd. 3 3%r® &iaw ¥ fean

4 (Sem-2/CBCS)HC 1(CAC)/G 7




Answer the following questions : (any four)

10x4=40

@m@@a%@ﬁ@éu%ﬁaﬁ%@ﬂ

.@Q What is goodwill ? Explain the ..«mloﬁm QA4
methods of valuation of goodwill. Propo
2+8=10 RIS

0%

i Afeq safeTR I :

o B2 A SRS il
41 | Genc
(b) Write four conditions for- effecting R
capital reduction. Explain the ooavﬂ.mﬁm : Sect
procedure to be followed for capital s
reduction. 4+6=10 St

wee| SEGA QIR 101 5% forat | S I on

2151 391 AN Tifeaa i Fejef elfeEa 0 w4 | 31.

Liv

(c) The following ledger balances are iw
extracted from the books of Divine Ltd. ‘

on 31.03.2023 : lr»w

b

Divine Ltd. ¥ 31.03.2023 Sif{<® were Wl Cz

AfoT Tgez (@Rl (™0 ¢ T
Particulars &l Amount () g
: , (<

| Al (G) S
wo,@oo 3&.@ shares of 2100 each 20,00,000 T
#febie 100 HE 20,000 TN Taisrg F
WWM&M MMM&Sﬁm N“MO,OOO )

G
4
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particulars &

Amount (3)

affeed (53

“Rank Loan 400,000
A%

Proposed Dividend 1,00,000
Fwde arer

10% Debentures 8,00,000
10% 9@

General Reserve 2,80,000
AR oS

Securities Premium Reserve 1,00,000
dfepfen wivge e

Surplus in Statement of Profit & Loss

on 31.03.2023 4,00,000
31.03.2023 @ dre-@RbR Qe afz

Livestock 3,00,000
ABY

Land and Building 10,80,000
o R R

Cash in Hand 1,00,000
YoC T

Cash at Bank 2,00,000
Stock in Trade 4,20,000
Furniture Fra Ao 6,00,000
§ -

4(Sem-2/CBCS) HC 1 (CAC)/G 9 Contd.




Amount (2)
sifqae (530)
Plant and Machinery 10,00,000
g e T
Sundry Debitors 8,80,000
Ry (e o
Prepaid Expenses 20,00
wfa one 39
Long Term Investments 2,00,000
A R

You are 8@58& to prepare a Balance
Sheet of the company as per schedule
Il of the Companies Act, 2013.

2013 B9 (@I=3{i] SN2 o1 1 gﬁmgﬁ
@%@Tﬁm@ag_

(d) Sailash Ltd. and Kailash Ltd. decided
to amalgamate and a new company SK
Ltd. is formed to take over both the
companies as on 31st March, 2023.

The following are the Balance Sheets
as on that date :

Sailash Ltd. 1% Kailash Ltd. rﬁ@ﬁa
T4 RIS o7 S FCAD! CPr=siieh Q@aﬂ BT
T 31.03.2023 Ot «@bi T rsir

SK Ltd. %%_awﬁmm@g AN
TFE o7 woie Wl 49eq

4 (Sem-2/CBCS) HC | (CAC)/G 10



am oz Amount @@ (3) T
Sailash Ltd. |Kailash Ltd.

"I Equity and Liabilities
A Tl%e (WAL
1. Shareholder’s Fund
TS TR offe
(a) Share Capital
u T
Equity shares of 210 each
fully paid _ 10,00,000 |  6,00,000
ATt 10 Hale A %4
(b) Reserve and Surplus
s 9% o a2
Reserve Fund 4,00,000 3,00,000
e <ff
Dividend Equalisation Fund -~ 2,00,000
e ) e
Workman Compensation Fund 40,000 -~
=fis wherdd e
Surplus in the Statement of
Profit & Loss 60,000 1,00,000
2. Non-current Liabilities

10% Debenture — 1,00,000
10% 3993

4(Sem-2/CBCS)HC 1 (CAC)/G 11 Contd.




Amount @ () Gl

T 4
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articulars e
Sailash Ltd. [Kailash Ltd.
3. Current Liabilities
yere (vl
Trade Payables :
IR A ¢
Sundry Creditors 2.00,000 | 2,40,000
fafae sfteams
Bills Payable 1,00,000 60,000
o
Total ¥ | 18,00,000 | 16,00,000
I. Assets T
1. Non-current Assets
SHbTeTe e
(a) Property & Equipment 9,00,000 | 8,90,000
TG % TG
(b) Goodwill 2,00,000 1,60,000
(c) Other Intangible Assets
S T i
Patent & Trade mark —1  1,05,000
2. Current Assets
(a) Inventory 4.00,000 3.00,000
:




Particulars R Amount 4T (3) 5!
Sailash Ltd. |Kailash Ltd.-

(b) Trade Receivables :

TS dlef 3

Debtors (WM< 2,00,000 |  1,00,000

Bills Receivable 1% e s 40,000
(c) Cash & Cash Equivalents 1,00,000 5,000

W T AT T

Total 5 | 18,00,000 | 16,00,000

Calculate the purchase consideration
of both the companies and prepare the
amalgamated Balance Sheet of SK Ltd.
assuming the amalgamation is in the
nature of purchase. |

TG @r>iiae T8 Afoniag 2ffwid siom1 3t
R T AFfed gaid «f€tsi SK Ltd. I
GFITIR 2[FAS] TG 2@ AFS 9 |

(e) The following are the Balance Sheets
of ‘Himesh Ltd.” and its subsidiary co.
‘Shekhar Ltd.” as on 31st March, 2023 :

‘Himesh Ltd.’ % 231 g3 (. ‘Shekhar
Ltd.” 31.03.2023 ©IfR¥T Tg€ Aa &7 fr

LG

_ Contd.
"Sem-2/CBCS) HC 1 (cAC)/G 13 .




Balance Sheets ©9€ 4

Amount & (3) 04

Sailash Ltd.

Kailash Ltd.

ity and Liabilities
o E% (WIS
Shareholder’s Fund
YT AT
(a) Share Capital
G G
Equity Shares of 210 each
%ﬁ 10 BFIE i o
(b} Reserve and Surplus
Ao e u% 3R
Surplus in the Statement of
Profit & Loss
2. Current Liabilities
sfoTe Gl
Trade Payables :
TAEE ATwY ¢
Sundry Creditors
fafed tteatma
Total ﬁ
II. Assets 7@
1. Non-current Assets
Plant, Property and Equipment
T, FAE O% AgH
2. Non-current Investment
welbliere fafera
3200 Shares in Shekhar Ltd.
Shekhar Ltd. 3 3200 o3

Total ..@

il
0

4 (Sem-2/CBCS) HC 1(CAC)/G 14

120,000

10,000

34,000

40,000

8,000

12,000

1,64,000

60,000

1,36,000

28,000

60,000

1,64,000

60,000




The shares were acquired by Himesh
Ltd. on 1st October, 2022. Prepare the
consolidated Balance Sheet of Himesh
Ltd. and Shekhar Ltd. as on 31.03.2023

and show necessary workings.

01.10.2022 wifs¥s Himesh Ltd. (¥
Shekhar Ltd. 3 Sig*isf@ wfagzd Fq |
31.03.2023 wiffs uagige Zfoog s 31
TR FACS SIRHBR ool I (el |
(f) Coal India Ltd. resolved to utilise
22,50,000 of its General Reserve
Balance to declare a bonus to
shareholders by paying the final call of
R2.50 per share on 1,00,000 equity
m_.._mw.mw of 210 each. The*company
further decided to utilise the balance
of Securities Premium Reserve Account
of wwﬂoo“ooo by issuing fully paid up

bonus shares.

Pass journal entries in the books of

the company and also show the ratio

of bonus issue.

Contd.
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1,00,000 B B Sojel SIS [2B1#f® A
e #f@l 2,50,000 5F IS g I B
o T | F9ICS (PTSITICOI SIeisfd wifas

Bp1efa 2@l 2,00,000 TR F=2ief TIPS I+
oo e SR | |
@R a2 TiEml AR Wl S A0 SR N
fafera Sgeire T 9 |
(99 What is right share ? Explain the
advantages of right issue. 4+6=10
wftsge s & wfieRge s [
fREPTE T 4 |
(h) Write notes on : o+5=10
5y (oI foral ¢
() Amalgamation in the nature of
merger
sifeTRee oipfot uafaaael
(i) Different forms of internal
reconstruction
WSTERN F o1E oy e

Q033 Z
»ow,wm.. 23

i TRIrROa D N IRREAICS L VR S e R SR R Sk e e
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2023
COMMERCE

( Honours Core)
Paper COM-HC-2026
( Corporate Laws )
Full Marks : 80
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

w@%ﬂaﬂ%ﬁw@aﬂmﬁ

Choose the correct answer for the following
T&ouuo

questions :

@mamgmﬁﬁmuam@%ﬂm@@aﬂw

«ﬁ& The minimum number of members in

a private company 1S

a5t s @S TR AT R
\@ 2/R

(i) 4/8

(iii) 6/Y
o], B Contd.




.

(b)

following documents
led with the Registrar

of Companies at the time of
incorporation of a public company ?

%%g%@%xﬁamdﬂ@
%%%a?ﬁaﬂa%&%

e 2
(i) Articles of Association

el REwiRet]
(i) Memorandum of Association

A=
() Prospectus

SRR
(iv) All of the above
SAF AIJHAIAE

Which one of the
is required to be fi

The maximum number of companies
in which a person may hold the office
of director at the same time is

5 T T TS AR 1ot P
T oA @R TS F2A

i) 8/v

() 10/>o0
(i) 15/5¢
(iv) 20/<0

4 (Sem-2/CBCS) HC2 (CL)/G 2




(d) The remuneration of first auditor of a

company is fixed by the

a5l @i 2ee [261e AR Nl
73 =3
) Board of Directors
A AT
(i) Managing Director
SAfaIe FARES
(i) Company Secretary
@A AR

(iv) All of the above
AT AP

(e) In which year was ‘The Depository Act’

passed ? _
@ e oo 5! Sz 2w 41 (2feE 2
(i) 1966/55%Y

(i) 1976/559%

(iii) 1986/53bY

@ 1996/ 555V

4 (Sem-2/CBCS) HC2 (CL)/G - 3 Contd.




nnot be reappointed.

s fia IR

N A Director ca
g FEETE S
_ (i) Correct
R
(i) Incorrect

T

(g) The office of the Wn%mﬁ.&. of Companies
is not a public office.

(@RI AGRRE P! ol IS
IfeTE W= | |
(i) Correct

%

(i) Incorrect
&7

(h) A person can wboogoﬂmﬁm_ only one ‘One
Person Company’.

G TG A@ GO ‘GaaAl @y
foraaadd I ANE |

(i) Correct
B

(ii) Incorrect
G87

— 4(Sem-2/CBCS) HC2 (CL)/G 4



(i) Articles of Association can be altered
by passing a special resolution.

Rrag 2w o7e 3 SR FaaRE sfaada
e 7

() Correct
TR

() Incorrect
@

() Dividend cannot be paid out of capital.
TS 21 FEI] AMI B (IR |

(i) Correct
S

() Incorrect
o

2. Answer the following questions : 2x5=10

e enpnme Sea foran

(@) Write the names of four statutory

companies. < P/
b1G! i =i wr fapey | @m\
4 {Sem - fG/
1Sem-2/CBCS) HC 2 (CL)/G S5 @ (/ﬂ \ Contd




(b) What 1s prospectus ?
PR TS QAT
(c) Write two differences between

Memorandum of Association and
Articles of Association.

e S ISR HENRE WS 707
A1 ol |

(d) What is special resolution ?
R A¥R I QA 2
fROTy QN B CetRE T Ay TV
(e) Who can be appointed as auditor of a
company ?

@R GBR fEpist s fpie T e
i onfa2

3. Answer the following questions in about
200 words each : (any four) 5x4=20

ofe7Bl 200 TH W oo FINE owpTel Ted
&l ¢ (R sifar) |

@‘ Write the differences between private
. company and public company.

FfGre @>iFl F IGTR (TR TG
2! AR ferlt |

4 (Sem-2/CBCS) HC2 (CL)/G 6



@\ Write the differences between transfer
Y and transmission of shares.

TN WA % WM (2 NG A
AffaaR &

(c) Briefly state the main provisions
regarding the annual general meeting
of a company.

% @I GO AT KR TSl TS Y
ALY Gz 5 3 41

(d) Briefly state the various types of
dividend.

fen aoie sroeR A e a1 311

(e) Briefly state the advantages of
depository.

feor feoR1e FffRUPTR HILF 9 T4 |

(f/ Explain the features of depository
system. Also write the names of two

depositories functioning in ‘India.”

———
—

e e ——
—

4 (Sem-2/CBCS) HC2 (CL)/G 4/@ /\ Contd.
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@i@wwmwmﬁ

tions 1n about

Answer the following que€s
10x4=40

characteristics of a company.
2+8=10

D @rNT TS @IE? @A GO [RRERTR
¢t =41 |

OR / 924

State the various stages involved in the

process of formation of a company.
10

ke DIRGINC %m@dmﬁé%m@w
FPTR I 4 |

4 (Sem-2/CBCS)HC2 (CL)/G 8




RIS
A

yout

=40

(b

Discuss the procedures of alteration of

(i) Name clause, and (ii) Object clause
of Memorandum of Association.

7+3=10

ARTAR (i) AT T, W (i) Sl TR

HAf{AET] FIFAATIZ A=A T4 |
OR / @134

What is forfeiture of shares ? State the
procedures of forfeiture of shares. Also
state the effects of forfeiture of shares.

2+4+4=10
¥ CEAEI FIF QT 2 T

AMTAGIR IR I 1 | FolTe
ST ACTAISTR ARERPTRR 367 311 |

What is the meaning of Director’ and

‘Board of Directors’? Discuss the

different types of director of a company
on the basis of provisions of the
Companies Act, 2013. 2+8=10

| d.
Sm-2/CBes) He2 (CL)/G 9 L



serers offerd oY B2 2059

%ﬂ%%%ﬁm%@ﬁa@@%
Mﬂmﬁ@ q5rq fafen oS Seeferdd [FaCd
Sizamal F4 |

OR | &%

State the functions of the different
committees required to be formed by

the Board of Directors of a company.
10

S B T AREE 1S IR
fafen Afformza FEaEPRE 39 40|

\& What is dividend ? State the statutory
C provisions relating to declaration of

dividend by a company. 2+8=10

SO BB ([@I0ET 2 (AT ABIZ TSI (AN
(FIS N Hleeam wiEsre [Tz 39
| _

OR / G4/

State the circumstances under which
a company may be wound up by the
National Company Law Tribunal.

10

4 (Sem-2/CBCS)HC2 (CL)/G 10
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VIRONMENTAL STUDIES
nhancement Compulsory Course-AECC-2)
Paper : ENV-AE-2014
Full Marks : 80
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Fill in the blanks : 1x10=10
Qe i 27 B 8

\Fc The flow of energy In an ecosystem is

sififFfovre Wbre =fes oaE 2'F |

() The Environment Protection Act was
¢~ implemented in the year

~

S{fQT| T i BeTS P (2l |

Contd.




part

(c) Ozone layer is present in

¢ of the atmosphere.

AN HHE &G T AT |

Micro consumer 1S also known as

T TATSIE® e T A

@ During the flow of energy, ecosystem

m_ém%_w follow .two laws of

@ wo! AW 5T |
() Pyramid of is never found in

4 inverted form.

foifie @foae SElD F|9ie (=ii[l

A |

\S National Park is an oxma.@_o of

conservation.

g T T FHTHT IR |

3 (Sem-2/CBCS) ENV/G 2
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(h) In 1992, Convention on Biological
Diversity was held in city of

Brazil.
Y902 5w FifeeR 5299 GREADBAI
AR S (2% |

() In nitrogen cycle, the main reservoir of
nitrogen 1s

BT T bF© G (ER e STl RS
|

\S Greenhouse gases have the ability to

absorb __ energy.

CTOEZ (T2 ] AT (T 30O
W& ufE 77 M| i

2. Answer the following questions in short :
2x5=10
woTe Al eTHEn) BioeE e ¢
k& What is acid rain ?
EEESEOREY

3 (Sem-2/CBCS) ENV/G 3
Contd.



% What do you mean by food chain ?
<apeE e & e ?

(c) What are greenhouse gases ?

(TeTyz (9% 2

@\ Q?m. examples of some non-renewable

resources.

@@ﬁﬂwﬁﬂaﬁéﬁwﬁﬁgmﬂ_

1@\ Mention different causes of depletion
of biodiversity.

(&R (Afba 2™ (IR Rifen ez S o |

3.  Write short notes on : (any four)
| Sx4=20
5 O o121 ¢ (Rzeizanr s1f36))

(a) Ecological pyramids
\F\ Significance of environmental education

Al fRrFe ey

3 (Sem-2/CBCS)ENV/G 4



(c) Ecological succession
33 o ey

g Food web
AWy Eled

E Rain water harvesting
YR AT AT

(f) Man-made ecosystem
PR EEI S R ISIOk
4. Answer the following : (any four)
| 10x4=40
were iR Ol i ¢ (Ricsiear bifeoT)

(a) What do you mean by natural
4 resources ? Discuss different types of
renewable resources. 2+8=10

aigfes > e & Ioe ey o
R TV R S 95 |

(b) Explain the structure of an ecosystem
with examples. ‘

CrzaeTz AR OTT GO ot g |

3 (Sem-2/CBCS)ENV/G 5§ Contd




' What is population explosion ? Discuss
the impacts of population explosion on

earth. 2+8=10

S RpRel T @2 4R oA TRt
AR 2SI TS S I |

What do you mean by wildlife

conservation ? Describe the in situ

means of wildlife conservation.
2+8=10

FER Tl JI 6 o e G AT
Fifw T A7 TAE 30 51| |

(e) What are the different sources of water
pollution ? Discuss the effects of water

pollution on human health.

4+6=10

A apEeR SoPTE 52 ST e T
TP SATS (I AR R[S I sl
| |

3 (Sem-2/CBCS)ENV/G 6




(/) What is sustainable development ?
Describe the importance of sustainable

development. 3+7=10
TZIE BT 5 2 qie GRANE $Eg TR
il 41 |

(g) Define environmental science. Describe

the scope of environmental science.
2+8=10

s Fem [ 2 ofaral Reewe s 7o
39 =11 |

«Emeocmm9@nmooﬁmOmBEwbmowmwmmosm
~~ on forest and tribal people.
PSR A IR PSR FCIICS I S
GAGTOR (AT GO (TR TSR F=ATF
SN 9 |

3 Amngﬁw\owﬂm_ ENV/G 7 800
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COMMERCE

( Honours Generic)

et

Answer the Questions from any one Option.

OPTION-A
( Macroeconomics )

Paper : COM-HG-2016

OPTION-B
(Insurance and Risk Management )

Paper : OOElIOlwowm

Full Marks : 80
Time : Three hours

The figures in the margin indicate
Sfull marks for the questions,

Answer either in English or in Assamese.
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OPTION-A

( Macroeconomics )

Paper : CcOM-HG-201 6

as directed : |
1x10=10 §

Answer the following questions

Foieradl Tel vl 2

(a) What is comparative static economic 3§
analysis ? ,

~—
[y

wEEs (24 wdtafes e & 2
(b) Define effective demand.
HfE sifene el Wl |

(c) What i1s meant by aggregate supply ?

(d) Name the author of the book, The

General Theory of Employment, Interest
and Money.

The General Theory of mSEomSm:%ﬁ

Interest and Money 9%47q (sidacea = .
et |

4 (Sem-2/CBCS)| HG 1/2 MAE/IRM)/G 2
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(e) What is the shape of long-run aggregate
supply curve ?
el FefalE e (@R SIS (e
g 7

(f/ What does a vertical IS curve mean ?

qulF THg IS (q9iE 7 gmE

(g) State the condition of equilibrium in
the goods market.

9 AGRE IR 59 S 341 |

(h) What is the most common method of
measuring inflation ?

JarFife (FikE wbiEes AR smfen F 2

() The value of money and the price level
~ are related inversely/directly.

(Choose the correct answer)

YEE T W% RIIT e T5F Ko Srog
G | (&% TEIH! A T )

() What is meant by marginal propensity
to consume ?

difes ol eRerel e 7 g
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y ‘and flexible exchange rate
AN (YS!

Distinguish between induced wmvess

and autonomous mnvestment

el Ry

Foy RNrTe W IudiEy RiNrosre sree 19
foa |
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Answer any four of the following questions :

(a) Explain the national income identity
using circular flow of income in a three-

sector economy.

RRDI-1eTE LTS AT HF I 2RIR IS
=R G g AT FRI A

(bp) How is the LM curve affected by the
change in the supply of money ?
Explain with a diagram.

W @SR #AfRaSae @’ LM @i e
soifde 2 ? Has TS I ¥4 |

(c) What is marginal efficiency of om,ﬁﬁmﬂ ?
State the determinants of marginal
efficiency of capital. |

e eifes srrEel 6 2 R enfes
FrfrroR FdemmR T 39|

(d) Explain the trade-off between inflation
and unemployment.

ARG S friaeia ST AAR{fR 7516
4 |
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(e Explain the cost-push theory ol

inflation.
Sesiie AEENT JAFFITS TGOl M 0

(i Briefly explain the arguments in favour

of flexible exchange rate system.

S R 79 TAER AT 24 PETR YT
EIRNIEEIN

Answer the following questions : 10x4=40

(a) Discuss the determination of
equilibrium rate of interest and level of
income with the help of IS-LM curve

analysis.

IS-LM (@2 Rosiwem #gwe oA v 39

TG SRR SES WEiEe SINEe 4 |

Or/ g<4q]
Discuss how income and the interest
rate are affected by an increase in
government spending and an increase

In taxes, using the IS-LM curve model.
5+5=10
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(b)

" . — " e —
cazd 44 e e T Jad TEAE U Ui
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Explain the nature of demand-pull
inflation. What measures would you
suggest to control such inflation ?

5+5=10

1 oafe apy @4 92

Erirife famed ana gfv & 3@ weRmEl
Or/ q94q]

Discuss the effects of inflation on

production and distribution. 5+5=10

SN - " e -
JurEEIfed Teomd TR fAea9d eoqe Afay
ACEANZ HTABA] T

-4

Explain Mundell-Fleming model with

flexible exchange rates.

Contd.




or/ a4l

ss the derivation of th
n the goods market 1n
Peonomy with suitable diagram.

e IS curve

an open |

What is meant by investment function ? |
Discuss the factors which affect the |
level of investment. 24+8=10

it 7o o s Jo 2 RECI 5
o[ (AR TAMFTIZ JCEADl FA |

Or/ 994!

Explain Keynesian theory of demand |
for money. Write how it is superior to
the traditional quantity theory of
money. 7+3=10 |

SRTBHRI LI bifwt ogeo! i |

& o1 JuI ~IfHle TGS 2 (I T
| |




OPTION-B
(Insurance and Risk Management )
Paper : COM-HG-2026

. Choose the most appropriate answer for the
following questions : 1x10=10

wee Wl o7 Toge TR b Tieea o

(a) Which of the following is not an
objective of loss control ? _

Free @R we FEEe Tme T2
(i) Loss prevention
wf© Al

.\«E Loss - reduction
HS Ze

(i) Loss retention
O 4199
(iv) None of the above
- @9R] D18 T

(b) Which of the following is an example of
systematic risk ?

OHd (B! TR FOHFE THIZe| 2
(i) Inflationary risk

© %o
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(i) Interest rate risk -

(iii) Foreign exchange risk

o W

(iv) All of the above
GoiFE SHIR(FLD!

Q Total number of wholetime directors 1n

(@)

[RDAI i1s

IRDAI © #@aie AREIT TR
i 4 (8 T)

iy 5 (¢ T9) ,

(i) 7 (4 ©)

(iv) 10 (so TX)

IRDAI was established in the year
IRDAI (FI¥ 578 Zloiq 311 (2fem ¢
() 1995 (s»de HTS)

) 1999 (S55d BS)

(i) 2000 (2000 Bw)

(tv) 2001 (003 Hs)
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(e) Which of the. following entities are
regulated by IRDAJ ?

TR (g e IRDALG arl ffie

LU

() General insurance companies
FAlege T prspien

(i)  Re-insurance companies
PRI i)

(1) Insurance intermediaries
TR-SrForRna

(iv) All of the above

L S EAVIINEI G|

(f) Accepting two or more insurance in
respect of the same subject matter and
from the same insurer is called

Q25! I (¢ o1 Gr0! farTaE esiae
73 31 wrelfad I 920 wfara o 3 (wm

2 ?

(1)  re-insurance

Gasinl

@.\\ double insurance
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el

(iv) None of the above

@o[qq oIS A

(iti)

(g9 The main function of actuary is
management of risk and uncertainly.
The statement is

e W% SGTOR AfRBERI TSR
o4l T | GGl

¢ True (9%)

(i) False (W)

(h) “Life insurance contract is a contract
of indemnity.” The statement is

,r@ﬂ% M@ Bmm uﬂw@dﬂﬁ M@ ” d..ﬂ.ﬁd.—
(i) True (®%) | :
@ False (Tiwg)

(X4 . F
Fire insurance

. 1S a contract of
uberrimae fidei »

The statement is

\Q wﬁﬂsﬁ Amwﬂu.v
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0) Hull insurance is the main Subject

Mmatter of |ife Insurance contract.” The
wmmggna 1S

() False (o)

et

r._

Give brief answer to the following questions -
2x5=10

SeTS At ereraraq 5 T&x iz
(@) Explain the concept of risk.

T ofONPR qReD! g

NE State any two differences between fire
Insurance and marine insurance.

ggﬂgﬂ%ﬁuﬁa&ﬂm%@
AN T ¥ |

(c) State two objectives of re-insurance.

© AR g T o

(d) What is meant by insurable interest ?

Fracary T I & @@ 2 .

(e) State two advantages of insurance.
© Sim gy AR SR )

13 Contd.
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A - any four questions from the
nsweo oy
_:::fﬁw:ﬁ _3 :—Qaucﬂ Hmo Emuﬂ.&u‘d AL&HT .
S5x4=20
wwa farara bifAb! eid Sroreca S Y@ OB T *#q
foore Ted fal ¢
(@) Explain the concepts of systematic and
unsystematic risk with suitable
examples.
VAT Twizaaz ddiE i Ol S l[5T [%
fe*<ia iyl SeRTuIl |

(b) State the differences between co-
insurance and re-insurance.

AT R A AlaR &2 |

(c) Write a short note on insurance
ombudsman.

T-(FIFAETT €sige GOl 55 BRA 14l |

«\& Explain the main features of life
: insurance.

- Gl TR 2l CaREEE i ) |

W . .
) o_,zﬁ a Qmﬁm:.ma :.08. on different types
motor vehicle insurance policies.

R Aoz Ram
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()  What are the conditions of indemnity
under a contract of Insurance ? Explain.

ggga_?aﬁ@%ﬁ%%éﬁ_

wymméow any four of the following questions
In about 600 words each : 10x4=40

ﬂm%@g@%%mﬂmu@%ﬁ@oo
A Y fSoae ey B e

(@) * What is meant by risk management ?
Elaborately discuss the risk
management process. .  2+8=10

TR AR 9 o ¢ e
imgﬁmm@gﬂﬂﬂmgﬂﬂﬁ._

| «E. - Explain in detail the essentials of a valid
insurance contract.

ﬂmwﬂm@,%@%ﬂﬁﬂ%g
74l | e o |

?o What are different types of insurance ?
Write a detailed note on (i) fire and
(i) marine insurance. 4+(3+3)=10

o o T R B2 () S T, o
E\%&&méiﬂdbﬂﬁ@@ﬂ@»f
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(d) Discuss the -.nmc_mﬂoQ._.ﬂmaaioﬂr of
insurance sector 11 India.

Ssads Frarea FEeR ATERE] BG4 |

(e) Explain the impact of globalisation on
Indian insurance sector.

SATAfE TG GFAT (NMASAIAR AS”
Ay ¥4 |

rg Discuss the steps taken by IRDAI for
protecting the interest of policy holders.
10

AfeAfouraa Fwea w1 Fafwe Ffadta IRDAIE
UF| T4 AGCEARLZ AEADA 41 |

ﬂi

(99 What is meant by measurement of
risk ? Explain in detail about different
methods used for measurement of risk.

2+8=10

HSPR Aok e & Iomm 2 WiemaR

AR T Az Rfen Eferam wiEm
71 |

(h) .U._wocmw the importance of insurance
In our day-to-day life.

TR R S TR a4

R ————
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